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« oleAppl= Getobjed (“ ABSAMPL. doc”)  * WORD
% myRangel= ol eAppel. Application. Documents(“ ABSAMPL. do¢”)
’ myRangel. Tables( 1) . Range. copy * ABSAMPL. DOC
2
¢ L0 ( VFP ) oleApp= — CreatObject(“Word Applicatio”) *  WORD
, . , VFP oleApp. Application. Visble= .T. * WORD
WORD , 1 oleApp. Documents. Ald ~ * WORD
WORD myRange= oleApp. A pplication. ActiveDocument
’ myRange. Paragraphs (myRange. Paragraphs. Count). Range. Ir
sertA fier(CZMC+ ¢ Ty ok
1 myRange. Paragraphs ( myRange. Paragraphs. Count) . Range. Font.
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windows . Mieresoft Vond Fexpre myRange. Paragraphs( myRange. Paragraphs. Count) . Range. Font. size
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6.0 ; Micossfi wold 2000 Rerge, Paragraphs(myRange. P b Count) . Range. Font. bold
R myRange. Paragraphs(myRange. Paragraphs. Count) . Range. Font. bold
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Al. DBF « 1.0” myRange. Range. InsertParagraphAfter.  *
myRange. Paragraphs(myRange. Paragraphs. Count) . Range. Font. bold
QA5.DBF «“ 1.0 =&
te STR(NF, 4) + ¢ "+ LTRIM (TRIM (STR) QS, 3) ) )
A 3 Lo? myRange. Paragraphs (myRange. Paragraphs. Count) . ange. InsertAfter
7. DBF .
(tt)
myRange. Paragraphs( myRange. Paragraphs. Count) . Range. Font. size
QA1.DBF « 107 = 12
myRange. Range. InsertParagraphAfter
APIVALUE. DBF « tt=" >+ STR(NF, 4)+ © 7+ Yl+ ° 7 + Rl+ ¢ ’ +
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I. _
+
ZBJC. DBF ( Pl S T 4 ITRIM
) (TRIM (MS&P2))
ABSAMPL. DOC ifpd> 5
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tt=tt+ ¢ myRange. Table( 1) . Cell( 3+ 3" k, 2) . Range. InsertAfter( tt)
endi * API

myRange. Paragraphs ( myRange. Paragraphs. Count). Range. Iir
sertAfter( tt)

my Range. Paragraphs(myRange. Paragraphs. Count) . Alignment= 3

my Range. Range. InsertParagraphAfter

tt= CMC+ ¢ ’

myRange Paragraphs ( myRange. Paragraphs. Count) . Range. Iir
sertAfter( tt)

my Range. Paragraphs(myRange. Paragraphs. Count) . Alignment= 1

my Range. Range. InsertParagraphAfter
my Range. Paragraphs(myRange. Paragraphs. Count) . Range. Paste

my Range. Range. InsertParagraphAfter

my Range. Paragraphs(myRange. Paragraphs. Count) . Alignment= 2

myRange Paragraphs ( myRange. Parmagraphs. Count). Range. I
sertAfter( czme+ ’ )

my Range. Range. InsertParagraphAfter

SET DATE TO YMD

tt= DATEO

my Range. Paragraphs(myRange. Paragraphs. Count) . Alignment= 2

myRange Paragraphs (myRange. Paragraphs. Count). Range. Iir
sertAfter( tt)

SELE zbjec  *

GO TOP
i=1
DO WHILE.NOT. EOF0
ii= STR(L, 1)
vstcode= g@de
vpeode= pcode
SELE ql
LOCA FOR vstcode= stocde and pcode= vpeode
IF IEOFO
cdme= SUBS( prmare, 1, 12)
ELSE
cdme= came+
ENDI
SELE zbjc
k=1i-1
myRange. Table( 1) . Cell(2+ 3" k, 1) . Range. InsextAfier( cdmc)

tt= allwim(STR(INT(sl1+ 0.5), 6))

myRange. Table( 1) . Cell(2+ 3" k, 3) . Range. InsertAfter( tt)
& API

tt= allwim(STR(INT(L21+ 0.5), 6))

tt="allrim( STR(INT'(s31+ 0.5), 6))
myRange. Table( 1) . Cell(4+ 3" k, 2) . Range. InsertAfter( t)
* PM10 API
tt="alltrim( STR (INT'(s4+ 0. 5),6))
myRange. Table( 1) . Cell(2+ 3" k, 4) . Range. InsertAfter( tt)
* APL
P3= ltim(wim(STR(s42 1)))
IF int(s4+ 0.5 > 50
tt= tt&p3
ELSE
tt=
ENDI
myRange. Table( 1). Cell( 2+ 3" k, 5) . Range. InsertAfter( tt)
P2= lwim(tim(STR(s41,1)))
tt= jh& p2
myRange. Table( 1) . Cell( 2+ 3* k, 6) . Range. InsertAfter( tt)
tt= ms&p2
myRange. Table( 1) . Cell( 2+ 3" k, 7). Range. InsertAfter( tt)
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